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PART - III
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( SO LHHILD <piidler qufl / Tamil & English Version )
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r fairness of printing. If there is any lack of

Sifleyewysst : (1)

Check the question paper fo
inform the Hall Supervisor immediately. |
derline and pencil to draw diagrams.

Instructions : (1)
fairness,

Use Blue or Black ink to write and un

(2)

u@# - 1/PART -1
@Ol () SIS AN @TESEHHELD Qe wefl&sa|.
Qar@EsLLLbarer LrHm HeoLsaled WBsajb gHyeLW
eflenL_anuid Csiih0sH 5515 GO HLe Qen_ulenamyd GCarsgl
Y EELIE

20x1=20

Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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<15 eururrdes GarerreLd

1. “Cuaerdren erearug LaTGCaméE QFwe,
| Ldpg. Guab Larllureramyb,

Qaliflenpg). Guarereny G TETeLD Qe
Leflfenanyb Cueraren Celfpg” erenm Saplue :

(1) yriey epig Guumire (<2,) Gamar] o GLImLIED

(@) Sl F. grésr () EW. GLer

‘Management is a multipurpose organ that manages a business and manages Manager,
and manages worker and work’. Who said these words ?

(a) George Odiorne (b) Henry Fayol
(c) Peter F. Drucker (d) F.W. Taylor
2.  NSEI GsmpmeflsasiulL <6 :
(=) 1997 (<=,) 1990 (&) 1992 (rF) 1998
NSEI was established in :
(a) 1997 (b) 1990 () 1992 (d) 1998
3. QeQulien semaenWISD <G LD.
(1) Qcvedl (<)) HOSSST (@) wwbeu () Ggerena
The headquarters of SEBI is ,
(@) Delhi (b) Calcutta (c) Mumbai (d) Chennai

waflgeauer GaIE@TEnD ETETLIG HETEmI&EE LOMTSTS

QEweour(.

srpewid (R) :  @sean (pigalserme L HGW SlemellL (LplgWLd.

(<=1) (A) #fl ey (R) geum)

(<) (A) wpm (R) Qram@®n &fl, Cogib (R) crarug (A) -&@ sflwmrer
efleT& &0

(@) (A) bpmd (R) Qe @b &f, Cogib (R) crarug (A) -&@ shwmen
eETEHSHLD O

(7) (A) soum amed (R) &l

4.  &mdml (A)

Assertion (A) Human Resource Management is an intangible function.
Reason (R) H This can be measured only by Results.

(a) (A) is correct but (R) is incorrect

(b) (A) and (R) are correct and (R) is the correct explanation of (A)

(c) (A) and (R) are correct and (R) is not the correct explanation of (A)

(d) (A) is incorrect but (R) is correct
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3
Gavewrw euifl Gy eramLg) epGL FTSSIWLD.
(o) 48 (=) senfla
() QenenTwid (FF) Sseatn euflens
E-Recruitment is possible only through facility.
(@) 4G (b) Computer
(c) Internet (d) Broadband
@@ Hpwb ude delwlule _ BrisEhpsEeT QwéEpraael
(ApSHEL LD gl L 1L Geuamr(hib.
(<=1) 50 (=) 45 (@) 30 (rF) 60

First meeting of Directors should be convened within days from the date

of incorporation of the company.

@ 50 (b) 45 © 30 d) 60
m&TGaurfler Qurmiliny erewLgl Sfeur G]LIH)QJGITGT <2}, 61 et GLo
QUITHL_S@ET GUIBIEILISDETET L ITETOIGLD.

(=) @umiy (<) Qrrés rés

(8) 2-&sTeurs e (r) CopasTemib eeTSgILD

It is the responsibility of a consumer that he must obtain as a proof for

the purchase of goods.
(a) Invoice (b)
(c) Warranty Card (d)

Cash Receipt
All of these

#T6@ edpuamer @ULBSSHD gl (péélL 2 QUUNS Qm&dg ?

(=) eflena (=) Q@ srudant

(@) Qerggiflano wrHOLD (FF) AMENSSILD

Which of the below constitutes the essential element of contract of sale ?
(@) Price (b) Two parties

(c) Transfer of property (d) All of the above

[ Hplys / Turn over
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9.

10.

4
CuT (S8 s.
(1) seored Gz - () Aywris ke spos
(2)  eumed Qaqm - (i) sengw LkG SHOS
3) eburt@® Qsm - (i) wmdCu ukE sHos
4)  QumrrramGnr - (v) Qeodridr UkEG sHos

(1) (@) - @), @) - @), @) - ), @ - (i)
(=) 1) - O, @ - (@), () - (i), @) - ()
(&) - G), @) - @), @) - (), @ - @)

() (D) - @), () - @), @) - (@), @) - (i)
Match the following :

(1)
(2)
(3)
(4)

Dalal Street - () New York Stock Exchange
Wall Street - (i) Canadian Stock Exchange
Lombard Street - (iii) BomBay Stock Exchange
Toronto - (iv) London Stock Exchange

(1) - @), (2) - (i), (3) - (), (4) - (iii)
(1) - @), () - @), () - (i), (4) - (iv)
(1) - (@), (2) - (i), (3) - (), (4) - @)
(1) - (i), (2) - (@), (3) - (i), (4) - (i)

1881 -1b e QHEW wrHnLperd SpeuardslLid Gfle) 123 sameug -

(=1) Quirglds maile (<) sLaumdls &0
(@) Apliys Emedled (/F) wTHmE &_@
Section 123 of the Negotiable Instruments Act, 1881 deals with :
(a) General Crossing | (b) Promissory note
(c) Special Crossing (d) Bill of Exchange
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11. mn@g@mm Bbouews L ghlen Sip YIGINES
(=) LBIES AsrEs () LitiEE snamlsp
() uhe

(F) urigfenw <y aanr
Specify the document which comes under the Negotiable Instruments Act :

(@) Stock (b)  Share Certificate

(c) Share (d) Share Warrant

12.  Gueramaouiar dsudur@seais wserewuras aTgl ?

(<) pyLaBsso (<) USIdLLILOSSSD
(8) sLGuupSsIz (F) Sl B@se
Which is the primary function of Management ?

r(a) Decision - making (b) Innovating

(c) Controlling (d) Planning

13. &Cp Qsr@sstiul L meusafler GUTmBSTE Qenenr erg) ?
(<=1) penGeamsdlu FHens - Tdisre sHens

Or&L LSSIhiseT

(<2y,) BL6T FHEMS

euantlsd STETSHET

(@) uews FHng
(7) swflow kG sheos - SL@LD UGS raEeT
Which of the following is not a correct pair ?

(a) Forward Market - Future Market

(b) Debt Market Government Bonds

(c) Money Market - Commercial Papers

(d) Equity Market - Debentures
[ Smliys / Turn over
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14.

15.

16.

7,

Aur®sswpn Caulurateny B&@eausharar Qeudpeap __ 6Ten
SIDWESLLHSmg.

(1) grain@sa | (<) Cairay

(8) <L Gy () Gpirsmenre

The process of eliminating unsuitable candidate is called

(a)  Induction (b) Selection

() Recruitment (d) Interview

uni@ ufleuiésaman shag Guaitb Qeueurm Sienp&ELILBHEIDS

(=1) Cosflw gpeng (=) seT& FHaMS

(8) e et sHas (FF) urgisTiy shang
Stock Exchange Market is also called

(a) National Market (b) Spot Market

(c) Local Market (d) Security Market

&G er@ssiu_[Herer ampseid shasudHends HOMaUES CFTLIT| Gldvers
@G &0 6Ty ?

(<=1) efleve sy (%) QLé sap

(8) Cummer Fnm (/F) SIS gam

In the following Variables, which one is not the Variable of Marketing Mix ?
(a) Price Variable (b) Place Variable

(c) Product Variable (d) Program Variable

m&TCaurflen 2 fenaer <jeurser Caram@Berer Hlenaudd <45,

() sLEDSET (<)) iemeS Haer
(@) puear @dsliLBssgse (F) Gurmliyser
As the consumer is having the rights, they are also having

(@) Duties (b) Measures

_—

(c) Promotion (d) Responsibilities
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18. asduuailsaiier @Lib Cuprss

(<@1) sLBwb Qsiige (<) BlHludlLed
(&) shang ssH6u0 (F) GursGeursgl
Facilitating functions do not include

(@) Packing (b) Financing

(c) Market information (d) Transportation

19. Qufilu Ppeamsaier OgTdd apagasded LrGshs Splu (PG LTET(HES

ogajeug BB
(1) Hlener epeuLiL|ser (<) ugevur B
(@) umiGser () sLa (O usSHrhsar

enables small investors to participate in the investment on share capital of

large companies.

(a) Fixed deposits (b) Mutual Funds
(c) Shares (d) Debentures

20. Spss@TaudnET QUIMHHSTS RETODSE STETS :
(1) awsILHESISO
(<) CbuSSIS®
(@) CasmriuLrg oSl aTamT ILISTTT&ET
(%) (pheosW efermemTiLgTTTsaT
Find the odd one out :
(a) Acquisitions

(b) Upgrading
(c) Unsolicited applicants

(d) Previous applicants

[ Hmliys / Turn over
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L@ - II/PART - II

@Ol : gCsend 7 dlarrsaEpsE ol welésan. <dd 30 -eugl
allemmellnE sLLmubd efen_welss CouamBLb. 7x2=14

Note :  Answer any 7 questions. Question No. 30 is compulsory.

21. Gapevghieh smpmiivg. LUkE LrHnssHHETar euamrelossamiDd Fmnis.
Define Stock Exchange according to Hastings.

22. o Gamuler QuIrmeT S(Hs.

Give the meaning of Recruitment.

23. &heng ETUMITC) GTEone ?

What is Market ?

24. gren F. Qaenany sadlw merGeurt 2 flenwsdr wrael ?

What are the Rights of Consumer according to John F. Kennedy ?

25. ol L& GLEd eTeupie) eTaoenm ?

What is internal environment ?

26, Queramanios smedsemerl L iguiel (.

List out the Management tools.

27, sl LSS TRIGE FHeng GTannmed erenar ?

What is Government Securities Market ?

28. Gsmpeiiument eremLeui wimr ?

Who is called as a Promoter ?
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29.

30.

GOl : gCsab 7 dlarésErsE el waflésa. ofarm erair 40 -&@&

Note :

31.

32.

33.

34.

35.

36.

9

Qemfledr pavarucuhEE LELILMLaE Sper erer Sjeudlub ?
Why should an Entrepreneur possess Analytical Ability ?

3302 (NS)

TRsLUKRESS Aesflurgar @ mnmgj@oemg) <O MGG 6T 6l GU T

Culleopgieurt ?

If the payee is an illiterate, how can he endorse a negotiable instrument ?

L@S - MI/PART - I

sU_Lmub afenLweaf&Esa|L.

Answer any 7 questions. Question No. 40 is compulsory.

7x3=21

GMwles@ Cuerameiouden QueLsar erenauGLgD @s&rgﬂmm GT(PSIS. |

Write any three features of MBO.

giaflesy HE Hpeuemiser - eSleTEGS.
Explain about Venture Fund institutions.

‘&g’ - aNeT&EEGS.

Explain ‘Bear’.

<, G QU _ige 2 aTer LigHlamasmens sans.

State the steps in Recruitment process.

‘U AFETE FHEFUILD’ - oNeTé s

Explain E - Tailing.

Qewpheal LDDTESD GTEIMTED GTemres ?

What is meant by artificial scarcity ?

[ Hmiys / Tumn over
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37. elwrunrsder micmaniu @LpO sryaflsefiled eperblead dmmis.

Write about any three micro environmental factors of business.

38. Qsafleuren QM waraGalT(HSHE b o FITEMBIEMETS S([HS.

List down six examples of pure entrepreneurship.

39. sgngryan Siwreand GCseneuil(Hid gCHed eLpemm QewduTHE&METS SMHS.

Give any three cases in which an ordinary resolution need to be passed.

40. wrHm pep aiansie Cobapd gL Gurgedcena@eTDTa 6TeueTD!
Cuepsard ?

When there is no space in Negotiable Instrument for making further endorsement,

how can it be endorsed ?

u@S - IV/PART - IV

GO : Sievesgl elamés@sELD efenLweflEsab. 7x5=35

Note : Answer all the Questions.

41. (=) ppogard shaguien ApLidueyseamar edeurdlssa|ib.
960605

(<) 9 eflaé@ Goaramaiouien BETEPLOGET WITena ?

(a) Discuss the characteristics of Capital Market.
OR

() What are the advantages of MBE 7
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2. (1) é:j G 555_65)5 LD¢@JLb . Qumrplser Ul wrppéHn & e Guwmer
nur@ser Gaab phlanand &ams.
2|60608)
(<) L DHAaTED smfluiisEnsEs HmLbED HaaDseT WTmal ?
(a) Explain any five differences between Stock Exchange and Commodity Exchange.
OR
(b) Explain the benefits of training to the Employees.

43. (=) s sHens eramams elaTéEEs.
{6060
(<=3) 2 OSWIDIEHOET FTESEDS oNeTdGs.
(a) Explain in detail about Niche Marketing.
OR

(b) Explain the impact of Globalization.

44. (=) msTGeurflen > fepaafe TGsaEID gbdlaman aileTEGs.
' 3|6V60G
(<p,) HISE Fheng e Liiflaner efleurd&sa] L.
(a) Explain any five Rights of Consumers.
OR

(b) Discuss the role of financial market.

45. (1) EOLY euers :

@) ey &Ll () SLBHGSTT FmlLLd
3|6V60
QeEraTsEr Wrenel ?

(<)) LOTOD PDD pauamgslen e
(a) Give short notes on :
(i) Class Meeting (i)
OR
able Instruments.

Meeting of the creditors

(b) Mention the presumptions of Negoti

[ i@Liys / Turn over
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46. (1) Qamifléd wearGeurit LHMD Si&H CgTe @mm@aﬂm Geuirsear
Coumu(HSg)5.
36060
(<) LT iser wpmib Cameauser sely shasude shamsudL@D TCEEID
g Gummlsamer eileufl&se, L.
(a) Distinguish between an Entrepreneur and an Intrapreneur.
OR

(b) Apart from goods and services, explain any five items that can be marketed.

47. (=) gm. 1@ eratueu @b blniwsden @u_las@;wrrss Lenflwinigsliu@ S o,
et sefluul L wepule eparpmd BUGmSE QurpiiLTeTyT ? <10
erasilad eré@blenaseafled oieuit urmliumeurr ?
S|6060)
(<) Hmwd. ApHwur eremueui Ll Qgrifiéd @amns CpTLmE
cAmbuHpr. seurs Qsmie Aruransdd aaiftsrerEnd gbsaid
mhg Fauraseer efleuflésal.

(a) Mr. Raghu is appointed as a Director in a Company. Is he personally liable to
third parties ? If so, under what circumstances is he liable ?

OR

(b) Mrs. Cynthia wishes to start a new business unit. Explain any five challenges
that she will have to face during the course of her entrepreneurial journey.
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